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COS 488/MAT 474
Problem Set 10, Q3

AC Program V.1 In the style of the plots in Lecture 6, plot the GF's for the set of bitstrings
having no occurrence of the pattern 0000000001. Do the same for 0101010101.

Solution. Bitstrings not containing the pattern 0000000001:

1

Bz = g1
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Bitstrings not containing the pattern 0101010101:

14+ 224244+ 26 428

B = .
() 2104+ (1 —22)(14 22 + 24 + 26 + 28)
-

.

[Bp, (2) also has one other pole that falls outside the boundaries of the plot, located at z = 1.99852.]

My Java programs are submitted under “Additional files” as Bitstringl.java and Bitstring2.java.





